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Study the map of Masimba area and answer
questions 1 to 7

Which one of the following statements is true
about Kaku town?

A Itis headed by the District Commissioner
B. Itis headed by a Mayor

C.Itisan industrial centre

D. Itis headed by a chairman

‘What s the approximate area of the muni
of Kaku towns?
A5 km
C.5km

pality

B.10km
D.20 km

The climate of the Northern part of Masimba
area can be described as?
A hotand dry

C. cool and wet

B. warm and humid
D. cool and dry

‘The Peaple of Masimba area are likely to be
praciising

A Christian religion
. Traditional religion

B.Islamic religion
D. Hinduism religion

The feature marked Z on river Masimba is

Aa delta
C.an ox-bow lake

B. an estuary
D.alevee

Which one of the four places found in Masimba
area is situated at the lowest altitude?

A. Wega location

B. Tona location

C. Salama location

D Nalo location

Which one of the following economic activitics
s not carried out in Masimba area?

A Fishing B. Lumbering

C. Trading D. Mining

“Three hundred and fourty school leavers from
Bondo districts travelled to sugar plantations at
Miwani in Kisumu district to be employed as farm
workers. The type of migration described is

A Rural to urban B. Urban to rural

C. Rural to rural D. Urban to urban

Which one of the following organizations was
formed immediately after fist the world war to
bring peace to the whole world?

A United Nations Organizations,

B. League of Nations

C_Commonwealth Assaciation

D. Organization of Afican Unity

10.

13

14.

16.

In which of the following conditions can a

by-clection be held according to the constitution of

Kenya's

A. When the president dissolves parliament

B. When an MP misses seven consecutive sittings
in parliament

C. When an MP become the opposition leader of
the government

D. When an MP s jailed for more than six months

Who among the following is a member of the
judiciary and legislature arms of goverment?
AThe Attorney General

B. The President

C. The Chief Justice

D. The Speaker

‘Which one of the following cooperative socieities is

afarmer in Uasin Gishu most likely to belong to

A. Kenya Meat Commission (KMC)

B. Kenya Planters Cooperative Union (KPCU)

C. Kenya Grain Growers Cooperative Union
(KGGCU)

D. Kenya Cooperative Creameries (K.C.C)

Some indusries are located near the source of
raw materials in order to

A. reduce the cost of transportation

B. use up all the raw materials

C. reduce the number of workers

D. 10 take advantage of available materials

Which was the MOST immediate major problem

the Egyptian government had to solve before the

commissioning of the Aswan high dam?

A. Providing treatment for water borne diseases

B. Lack of adequate fertile'soil at the lower part of
River Nile

. Settling of people living along the river banks

D. Building of modern canals to aceomodate the
increased amount of water

‘The MAIN tourist attraction in central Kenya is
A wildiife

B. pre-historic sites

C.luxurious hotels

D. beautiful sceneries

‘The BEST way of showing respect for the

jon of Kenya s by

A working hard in various activities

B. obeying the laws of the country

C. getting an appointment as a government official

D.supporting the country’s teams in international
events
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17.

18.

19.

20.

21

22.

Which of the follewing statements is TRUE
about latitudes and longitudes?

A. Latitudes affect time

B. Latitudes affect climate

C. Longitude affect climate

D. Longitude do not affect time

The MAIN reason why the population of Kenya
growing more rapidly than that of the

republic of Germany is due to

A. fewer marriages in Germany

B. higher birth rate in Kenya

C. better medical care in Germany

D. improved living standards in Kenya

Which one of the following was a social effect of

colonial rule in Africa?

A Some commaunities were separated by colonial
boundaries

B. Traditional rulers lost their authority

C_Itled to the nationalist struggle for indipedence

D. Displacement of Africans from their land

Below are group of parties that were formed in
Kenya between 1944 and 1992. Which was

the correct order in which the parties were formed
from the first to last?

A KAU, KANU, KPU, FORD

B KANU, KAU, KPU, FORD

C. KPU, KANU, KAU, FORD

D. FORD, KPU, KANU, KAU

The time in Accra 0° is 11.15p.m. Whatis the time
inatown 60°2

A315pm
C.3.15am

B.7.15 am
D.7.15 pm

Which one of the following European countries
used indirect rule to administer ts colonies in
Africa?
A France
C. Britain

B. Belgium
D. Germany

Use the diagram below to answer questions 23

23.

24

26.

%

28,

29.

The illustration shown above shows air movenent
called

A. land breeze

B. sea breeze

C. convectional wind

D. water cycle

A foreigner who wishes to become a citizen of
Kenya is required to obtain

A. abirth certificate

B. a marriage certificate

C.aschool leaving certificate

D. a registration certificate:

‘Which one of the instruments listed below is NOT
Kept in Stevenson’s screen?

A. Barometer B. Hygrometer

C. Thermometer D. Ancmometer

What was the function of the Omuwanika in the
traditional government of Buganda? He was

A amilitary commander

B. the chicf minister

C. the chief justice

D. in charge of finance

“The following are some of the problems faced by
the forests industry in Kenya

(i) Damage by wild animals

) Pests and diseases

(iii) Charcoal burning by human beings

(iv) Encroachment by human settlement

(¥)lllegal logging

The MOST serious problems are
Al (V) B.(0), i)
C.(iv), () D. (i), (v)

Rapid population growth can lead o the following
problems EXCEPT

A industrial growth

B. inadequate social services

C.land fragmentation

D. high dependency rate

“The following are conditions necessary for the

growth of certain crop in Africa

i) Deep well drained soil

ii) High rainfall between 1500mm to 1800mm
annually.

i) High altitude of between 1800 metres to 3000

metres

i¥) Low temperatures of less than 15°C.

“The crop is MOST likely 10 be

A. Cocoa B. Pyrethrum

C.Cloves D. Palm oil
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30.

31

The first vice president of Kenya after the 2002
multiparty clection was -

A Dr. Josephat Karanja

B. Kalonzo Musyoka

C. Kijana Wamalwa

D. Proffessor George Saitoti

Which one of the four physical featur
below is the ODD one out?

A. Estuary B. Lagoon
C. Delta D. Barchan

s listed

Study the table below and answer question 32
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36.

What is the range of temperature of the above
station?
A 6C

c.ac

B.18°C
D.19°C

The MAIN reason why the president is important
in Kenya is because he

A. s the commander in chief of the armed forces
B. creates unity among Kenya citizens

C. shares power with the Prime Minister

D. represents the country in international meetings

Which one of the following events in Kenya taok

place first?

A. The outbreak of Mau Mau war

B Formation of KAU party

C. Detention of Jomo Kenyatta

D. The appointment of Jomo Kenyatta as prime
minister of Kenya

Which one of the following types of soil is usually
found along river valley?

A.Clay soil

B Alluvial soil

C. Volcanic soil

D. Loam soil

Aclass seven pupil listed the benefitsof democracy

as shown below

(i) Citizens are free to elect their leaders

(ii) Demacracy eliminates corruption in a country

(iif) Laws are applied fairly to all people

(iv) The citizens receives money from politicians
during election campaigns

Which one of the answers the pupilss gave were

correct?

Aiandii

C.iiandiv

B.iandiii
D.iiand iv

Which one of the following is the MAIN responsibility
of the government to her citizes?

A Producing adequate food to feed the nation

B. Improving the standard of education

C. Preservation of the natural environment

D. Raising the standard of iving

Which is the MOST important factor influenci
vegetation distribution in Africa?
A.relief B. Climatic conditions
C.soils D. Human activities

Use the map of Kenya below to answer question
below 39 10 42

An important economic activity that takes place in
the area marked P is
A Tourism

C. Ranching

B. Cash crop farming
D. Mixed crop farming

The MAIN problem faced by the people in the area
marked Q s

A. Lack of adequate rainfall for farming

B. Catlle rustling

C. Inadequate water for livestock

D. lack of market for their farm produce

An important traditional leader who led the
community around the arca marked R in resisting
the British rule was
A. Masaku
C. Lenana

B. Samoei
D. Mekatilli

“The MAIN type of fish found in the inland fishing
ground marked S is
ATilapia

C. Black Bass

B.Mudfish
D. Nile Perch

Which one of the following is a function of the
School Management Committee?

A Appointing teachers and headteachers

B. Sacking lazy teachers

C. Punishing pupils who disobey school rules
D. Planning the development of the school
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6.

a7.

8.

9.

50.

s1.

Which one of the following statements i true -

about Municipal Councils in Kenya?

A, They are underthe Ministry of National development

B. They usually make their own by-laws

C. They usually have a large juridiction in the rural
areas

D. The mayors are elected during National elections

Who among the following traditional rulers is

NOT correctly matched with the war he led during

the resistance against colonialism?

A Lobengula - Ndebele uprising -

B. Abushiri Bin Salim - Abushiri revolts

C. Masaku - Giriama resistance

D. Sakawa - Gusii resistance

Which one of the following political associations
was dissolved in 1922 to pave way for East
African Association?

A Young Kavirondo Associaton

B. Young Kikuyu Association

C. Kenya Affican Study Union

D. Kikuyu Central Association

Which of the following two regional co-operations
is Kenya a member of ?

A IGAD and COMESA

B. ECOWAS and COMESA

C. SADCC and AU

D.IGAD and SADC

The court system in Kenya is headed by the
A Attorey General

B_Judicial Service Commission

C. Chief Justice

D. Registrar of the High Court

The following were reasons given for practising
polygamy in African traditional societies?

(i) Desire to have children of particular sex

(ii) It was a way of controlling prostitution

(i) It was a sign of prestige

(iv) There were more women than men

Which of the above reasons LEAST explains why
polygamy was practised?

Aiandi B.iiand v
C.iiiandiv D.ii and iv

Which one of the following is an internal trading
partner of the East African member countries?

A. Eritrea B. Egypt

C.Britain D. South africa

The following are processes involved in mining of

oil inNigeria.
(i) Drilling of il
(i Setting up of derrick

(i) Refining oil

i

s3.

54

55.

56.

57

8.

(iv) Exploration
Which is the correct order in which these proeesses
oceur?

Adivii i i Blii,

D.ii,

‘The quality of beef product in Kenya has MOSTLY
been improved over time through

A rotational grazing

B. giving extra feeds to fatten animals

C. cross - breeding

D. keeping pure breed beef cattle

The Masai, Turkana, Fulaniand the Towana keep
large herd of cattle because

A. they believe all cattle belong to them

B. they do not like to practise crop farming

C. They lose alot of cattle during drought

D. They depend on cattle for their ivelihood

Which one of the following is an economic factor
that influences distribution of people in Eastern

A. Presence of minerals
B. Presence of high rainfall
C. Vegetatable cover

D. Good drainage

The BEST ways of improving law and order

in Kenya would be

A. passing heavy sentences to law breakers

B. training mote police officers to arrest law breakers

C. creating awareness on the importance of law
and order

D. building more prisons o house law breakers

In which area is Robusta coffee grown in Kenya?
A. Slopes of Mt Kenya

B.Gusii highlands

C. Embu and Meru districts

D. Siaya and Bungoma district

Which of the following is a TRUE statement about

fishing in Kenya and Japan?

A. Sea fishing is not practised in Kenya

B. Inland fisheries produce about half of Japan’s
total catch

C. Sea fishing in Japan is mainly for ornamental fish

D. Inland fisheries are relatively new in Kenya

Fresh horticultural products in Kenya are exported
to Eurape by

A. Road and air
C. Rail and road

B. Road and sea
D. Rail and air
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59. Which of the following is the use of diatomite”
- A.Itis used as the main raw material in the
manufacture of cement
B. itis used for making fertilizer
C.itis used to make industrial filters
D.Itis used in the paper industry

60 Which one of the following road signs at the road
tells drivers not to overtake other vehicles?

A}&
A
VAN
e

61. Which ofthe following was the punishment given to

Adam for disobeying God 2

A Feeling of pain whilé giving birth

B. Encmity between their offspring and those of the
serpent

C. They were prevented from eating from the tree
of knowledge

D. They were to toil hard for their daily food

62 Abraham’s son Isaac narrowly escaped from being
sacrificed by his father on mount
A Horeb B. Moriah
C. Carmel D. Hararat

63, Who among the following was referred to as a day

dreamer?
A Joseph B. David
C. Jacob D. Esau

64. The Pharaoh allowed the Israclites to leave Egypt
anly after
A Moseskilled the Egyptian
B. God sent diseases 1o the Egyptians
€. God caused floods over Egypt
D. Gods angel killed the Egyptians first borns

65.. Who among the following people led Israclites into
the promised land?
A Moses B_ Joshua
C. Aaron D. Caleb

66. Which one of the following groups consist of
members the family of the widow Naomi who all
died in Moab?
A. Elimelech, Orpha and Ruth
B.Mallon, Chillion and Elimelech
C.Ruth. Orpha and Chillion
D. Mallon, Ruth and Orpha

67 David, a reknown warrior in Isracl played harp for
King Saul. This teaches Christians that leisure should
BEST be used for
A-helping our leaders
B. developing new skills
C.entertaining others
D.enjoying themselves

68. Gehazi the servant of prophet Elisha suffered
leprosy the rest of his life because he lacked the
Christian value of

B. honesty

D justice

69.. Prophet Nathan was angry with King David because
theking
A was worshipping foreign gods
B. had planned for the murder of Uriah
€. had married many foreign wives
D. failed to build a temple for the Lord

70 Herod will be looking for the child in order o kill
Jim. So get up, take the child and his moiher and
escape o Egypt. (Matthew 2:13) Those words
were spoken
A. 10 Elizabeth by John the baptist
B. by God to Joseph in a dream
C.toMary ina vision
D. by Angel Gabriel to Joseph

7L Simeon and Ann were important in the life of Jesus
in that they were present during Jesus
A. birth at Bethlehem
B dedication
C.baptism
D. Perfomance of the first miracle

72, From the parable of the three servants who were
given ten silver coins in Matthew 25:14 - 30,
Christians learnt that
A. they should make use of their talents
B. those with money should assist the poor
C. those with more will always be given more
D. itis important to save what God has given us

73, Jesus raised Lazarus from the dead to show that He

has power
A. over demons B. to forgive sins
Clogivelife D. over nature
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7s.

6.

77.

78.

79.

80.

81

2.

h one of the following parables of Jesus teaches
Christians that heaven rejoices when a sinner comes
to the kingdom of God. The parable of the

A pearls B. good samaritan

C. sower D. prodigal son

The action of Jesus that demonstrated that He is a
universal saviour is

A. the feeding of the five thousand people

B. the healing of the centurions servant

C_the healing of the blind at Bartimaeus

D. the cure of the paralysed man

‘Who among the following found Jesus guilty of
blasphemy when He was brought before him?
A Herod B_Pilate

C. Ceaser D. Chicf priest

Which one of the following events took place at
Golgotha? Jesus was
A.orucified
C. arrested

B. betrayed
D. transfigured

Jesus said “Do not hold on me, for 1 have not yet
returned to the father"... (John 20:17)
Whom did Jesus tell these words?

A, Mary Magdalene

B. Mary the mother of Jesus

C. Simon Peter

D. Thomas

According to Acts 6:1 - 5, seven deacons who were
full of Holy spirit and wisdom were chosen to

A. translate the Bible

B. preach the word of God to the gentiles,
C_distribute food and money to widow

D. offer sacrifice to God in the temple

“May your money perish with you, because you
thought you could buy the gift of God with money!”
(Aets 8 20) These words were said by

A Simon to Peter

B Peter to Simon

C. Paul to Simon

D. Peter to Ananias and Sapphira

People who accepted the word of God in

Samaria received the holy spirit when

A. Peter and John baptised them

B. Philip preached to them

C_ Hands were placed on them by Peter and John
D. When Philip prayed to them

Which one of the following acts of worship is
Gommon to both Christianity and the traditional
African religion?

A. Praying for forgivenesss

B. Recital of the creed

C. Preaching of sermons

D. offering of animal sacrifices o God

83.

84.

86.

87.

88.

89.

90.

‘Which one af the following communities called their
God Were?
A. Maasai
C. Bukusu

B. Turkana
D. Luo

‘The MAIN reason girls circumision is not allowed
in Christianity is hecause

A. It puts girls at risk of getting HIV/ AIDs

B. the church hates the practise

C.Itis a traditional practise

Dtisa painful operation

Which one of the following is a demonstration of
the fruits of the Holy spirit?

A. Foretelling of future events

B. Perfoming miracles

C.Speaking in tongues

D. Caring for the sick

Christians should make good use of their talents and
gifis MAINLY because

A. God rewards hardworking people

B. God punishes lazy people

C. God expects them 1o serve others

D. God expects them to improve themselves

A church youth committee organised the act
listed below for a weekend

(i) Visitingthe sick in hospital

(if) Watching a film on the life of Jesus
(i) Practising in the church choir

(iv) Holding a music concert

Which one of these activities demonstrates a
Christianlove?
A

Ciii

John’s father is a local member of parliament. He
onlyassists members of his family to get jobs. Which
of the following vices does he practise?

A Nepotism B Tribalism
C.Corruption D. Racism
Christian values differ from secular values in

that

A. Christian struggle to obtain Christian values

B. Christians work hard to have secular values

C. People are bor with secular values

D. The Holy spirit helps Christians to have
Christian values

Which one of the following DOES NOT show justice?

A. Playing with all children even the ones who are
enemies

B. Sharing our things equally with others

C. Being given work in the farm when we are
supposed to be in a school

D. Being punished when we have done something
wrong
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READ THESE INSTRUCTIONS CAREFULLY
1. You have been given this question booklet and a separate answer sheet. The question booklet contains 90 questions.
2. Do any necessary rough work in this booklet
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET

4. Use an ordinary pencil
5. Make sure that you have writien on the answer sheet:

YOUR INDEX NUMBER

YOUR NAME

NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.c School Code Number
and the three-figure Candidate’s Number) in the grid near the t0p of the answer sheet.

7. Do not make any marks outside the boxes
8. Keep the sheet as clean as possible and do not fold it

9. For each of the questions 1-90 four answers are given. The answers are lettered A, B, C, D. In each case only
ONE of the four answers is corret. Choose the correct answer.

10. On the answer shect the correct answer is to be shown by drawing a dark line inside the box in which the letier
‘you have chosen is written

Example
In the question booklet

33, The main source of revenue for the local authority in Kenya is
A Tncome tax B. Sales tax
€. Licence fee D. Value added tax

The correct answer is A
On the answer sheet;
31IAI(BI [CI (D] 32 [AI(B][C][D] 33 (#(B](C] (D] 34[A] [B][C] (D] 35 [A][B] [C] D]
In the set of boxes numbered 33, the box with the letter A printed in it is marked.

1. Your dark line MUST be within the bos.

12, For cach questions ONLY ONE box is to be marked in cach set of four boxes.
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